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d"b|f Joj:yfkg ljefu

bfloTj ?= ?= ;DklQ ?= ?=

1= a}lsé clkm;df gf]^ df}Hbft 5,554,582,141         1= ljb]zL d"b|f / ;]So"l/^L 365,067,298,000           

2= rng rNtLdf /x]sf] gf]^ 359,512,715,859    

hDdf lgisflzt gf]^ 365,067,298,000         

hDdf bfloTj 365,067,298,000          hDdf ;DklQ 365,067,298,000          

OSjL^L tyf bfloTj ?= ;DklQ ?=

1 d"nwg 3,000,000,000             1  gf]^ 5,554,582,141               
2 ;fwf/)f hu]*f sf]if 21,668,832,750             2  /]RsL -                             
3 df}lb|s bfloTj sf]if 3,489,959,379              3  ljb]zL d"b|f 22,800,053,842            
4 ljsf; sf]ifx? 13,794,233,025              4  ljb]zL a}+s df}Hbft 128,106,061,902            
5 #=;f=p= ljsf; sf]if -                            5  P;=*L=cf/= ;+lrtL 3,341,484,771               
6 ;^xL ;lds/)f sf]if 64,644,715,969             6  ljb]zL a)* 127,571,903,973             
7 ;"grf¤bL ;lds/)f sf]if 4,480,191,137              7  vl/b / l*:sfp)^ u/]sf] ljn

8 ;]So"l/^L k"g/d"Nof+sg sf]if (106,301)                         -s_ :jb]zL 71,832,017                   
9 lgIf]k      -v_ ljb]zL 1,195,665                     
   -s_ g]kfn ;/sf/ 148,055,983,091           8  nufgL

   -v_ afl)fHo a}°x? 119,325,132,081                s= ljb]zL ;]So"l/^L 244,192,709,996           
   -u_ ljz]if lgIf]k 99,100,000,000               v= g]kfn ;/sf/sf] ;]So"l/^L 21,218,239,517              
   -#_ cGo 39,559,908,661                u= ljQLo / ;+:yfgx?sf] ;]So"l/^L 2,423,761,888               
10 e"QmfgL lbg"kg]{ lan 5,702,083,932                  #= l/kf] ljb]zL -                             

     ª= cGo ;+:yfgx?sf] ;]So"l/^L 31,000,000                  
11 l/e;{l/kf] ;]So"l/^L jfktsf] bfloTj 500,000,000                9  shf{ / ;fk^

12 P;=*L=cf/= af¤*kmf¤* 10,074,314,178                s= g]kfn ;/sf/nfO{ -                             
13 cGo bfloTj 58,608,774,016               v= jfl)fHo a}+sx?nfO{ 2,213,920,025               

     u= ljQLo ;+:yfx?nfO{ 59,900,000                  
     #= :yfoL t/ntf ;"lawf 2,200,000,000              
     ª= cGo shf{ / ;fk^ 4,473,197,733               
  10 ;"g df}Hbft 1,593,085,910               
  11= cGo ;DklQ 26,151,092,538              

hDdf OSjL^L tyf bfloTj 592,004,021,918          hDdf ;DklQ 592,004,021,918          
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